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The Analysis of Value Flow in Agro-ecological Engineering

Bian Yousheng
(Beijing Minicipal Research Academy of Environmental protection, Beijing 100037, China)

Abstract T he importance of the analysis of value flow in the agro-ecological engineering is described in this pa-
per. T he action of that on the increasing of production is discussed. This paper also compared the out put and in-
put ratio of value, value superiorify degree and monetary efficiency of ecofarm, and described the effect of sys—
tem management to control the system’s value flow with the ecofarm of Shengli Oil Fields as an example.
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